



## Sufficient Conditions For Sakaguchi Type Functions of Order $\beta$

S. P. Goyal<sup>1,\*</sup>, Pramila Vijaywargiya<sup>1</sup>, Pranay Goswami<sup>2</sup>

<sup>1</sup> Department of Mathematics, University of Rajasthan, Jaipur-302004, India

<sup>2</sup> Department of Mathematics, Amity University Rajasthan, Jaipur-302002, India

**Abstract.** In this paper, we obtain some sufficient conditions for Sakaguchi type function of order  $\beta$ , defined on the open unit disk. Several interesting consequences of our results are also pointed out.

**2000 Mathematics Subject Classifications:** 30C45.

**Key Words and Phrases:** Sakaguchi type functions of order  $\beta$ , Univalent functions.

### 1. Introduction

Let  $A_n$  be the class of all functions  $f(z) = z + a_{n+1}z^{n+1} + \dots$ , which are analytic in the open unit disk  $\Delta = \{z : z \in \mathbb{C}; |z| < 1\}$  and let  $A_1 = A$ .

A function  $f(z) \in A_n$  is said to be in class  $S_n(\beta, t)$ , if it satisfies

$$\operatorname{Re} \left\{ \frac{(1-t)zf'(z)}{f(z) - f(tz)} \right\} > \beta, \quad (|t| \leq 1, t \neq 1) \quad (1)$$

for some  $\beta(0 \leq \beta < 1)$  and for all  $z \in \Delta$ . For  $n = 1$ , this class is reduced to  $S(\beta, t)$  (see, [5]). The class  $S(0, -1)$  was introduced by Sakaguchi [7]. Therefore, a function  $f(z) \in S(\beta, -1)$  is called Sakaguchi function of order  $\beta$  (see, [1]). Recently Owa et al. [5], Goyal and Goswami [2] have discussed some properties for functions  $f(z) \in S(\beta, t)$ .

In this paper, we obtain some sufficient conditions for functions  $f(z) \in S_n(\beta, t)$ . To prove our results, we need the following :

**Lemma 1** ([4]). *Let  $\Omega$  be a set in the complex plane  $\mathbb{C}$  and suppose that  $\Phi$  is a mapping from  $\mathbb{C}^2 \times \Delta$  to  $\mathbb{C}$  which satisfies  $\Phi(ix, y; z) \notin \Omega$  for  $z \in \Delta$ , and for all real  $x, y$  such that  $y \leq -n(1+x^2)/2$ . If the function  $p(z) = 1 + c_n z^n + \dots$  is analytic in  $\Delta$  and  $\Phi(p(z), zp'(z); z) \in \Omega$  for all  $z \in \Delta$ , then  $\operatorname{Re}(p(z)) > 0$ .*

\*Corresponding author.

Email addresses: somprg@gmail.com (S. Goyal), pramilavijay1979@gmail.com (P. Vijaywargiya), pranaygoswami83@gmail.com (P. Goswami)

### 2. Main Results

**Theorem 1.** *If  $f(z) \in A_n$  satisfies*

$$\operatorname{Re} \left[ \frac{(1-t)^2 z f'(z)}{f(z) - f(tz)} \left\{ \frac{\alpha z f''(z)}{f'(z)} + \frac{\alpha t z f'(tz)}{f(z) - f(tz)} + 1 \right\} \right] > \alpha \beta \left\{ \beta + \frac{n}{2}(1-t) - (1-t) \right\} + \left\{ \beta - \frac{n\alpha}{2} \right\} (1-t)$$

for

$$(z \in \Delta, 0 \leq \alpha \leq 1, 0 \leq \beta < 1, |t| \leq 1 \text{ and } t \neq 1),$$

then  $f(z) \in S_n(\beta, t)$ .

*Proof.* Define  $p(z)$  by

$$\frac{(1-t)z f'(z)}{f(z) - f(tz)} = (1-\beta)p(z) + \beta.$$

Then  $p(z) = 1 + c_n z^n + \dots$  and is an analytic in  $\Delta$ .

A computation shows that

$$\frac{z f''(z)}{f'(z)} + \frac{t z f'(tz)}{f(z) - f(tz)} = \frac{(1-t)(1-\beta)z p'(z) + [(1-\beta)p(z) + \beta]^2 - (1-t)[(1-\beta)p(z) + \beta]}{(1-t)[(1-\beta)p(z) + \beta]}$$

and hence

$$\begin{aligned} & \frac{(1-t)^2 z f'(z)}{f(z) - f(tz)} \left[ \frac{\alpha z f''(z)}{f'(z)} + \frac{\alpha t z f'(tz)}{f(z) - f(tz)} + 1 \right] \\ &= \alpha(1-t)(1-\beta)z p'(z) + \alpha(1-\beta)^2 p^2(z) + (1-\beta)[2\alpha\beta + (1-\alpha)(1-t)]p(z) + \beta[\alpha\beta + (1-\alpha)(1-t)] \\ &= \Phi(p(z), z p'(z); z) \text{ (say),} \end{aligned}$$

where

$$\Phi(r, s; z) = \alpha(1-t)(1-\beta)s + \alpha(1-\beta)^2 r^2 + (1-\beta)[2\alpha\beta + (1-\alpha)(1-t)]r + \beta[\alpha\beta + (1-\alpha)(1-t)].$$

For all real  $x$  and  $y$  satisfying  $y \leq -n(1+x^2)/2$ , we have

$$\begin{aligned} \operatorname{Re}[\Phi(ix, y; z)] &= \alpha(1-t)(1-\beta)y - \alpha(1-\beta)^2 x^2 + \beta[\alpha\beta + (1-\alpha)(1-t)] \\ &\leq \alpha(1-t)(1-\beta) \left\{ -n(1+x^2)/2 \right\} - \alpha(1-\beta)^2 x^2 + \beta[\alpha\beta + (1-\alpha)(1-t)] \\ &= \frac{-\alpha n}{2}(1-t)(1-\beta) - \left\{ \frac{\alpha n}{2}(1-t)(1-\beta) + \alpha(1-\beta)^2 \right\} x^2 + \beta[\alpha\beta + (1-\alpha)(1-t)] \\ &\leq \frac{-\alpha n}{2}(1-t)(1-\beta) + \beta[\alpha\beta + (1-\alpha)(1-t)] \\ &= \alpha \beta \left\{ \beta + \frac{n}{2}(1-t) - (1-t) \right\} + \left\{ \beta - \frac{n\alpha}{2} \right\} (1-t). \end{aligned}$$

Let  $\Omega = \left\{w; \operatorname{Re}(w) > \alpha\beta \left\{\beta + \frac{n}{2}(1-t) - (1-t)\right\} + \left\{\beta - \frac{n\alpha}{2}\right\}(1-t)\right\}$ .  
 Then  $\Phi(p(z), zp'(z); z) \in \Omega$  and  $\Phi(ix, y; z) \notin \Omega$  for all real  $x$  and  $y \leq -n(1+x^2)/2, z \in \Delta$ .  
 By an application of Lemma 1, the result follows.

On taking  $t = -1$ , in the Theorem 1, we have following

**Corollary 1.** *If  $f(z) \in A_n$  satisfies*

$$\operatorname{Re} \left[ \frac{zf'(z)}{f(z) - f(-z)} \left\{ \frac{\alpha zf''(z)}{f'(z)} - \frac{\alpha zf'(-z)}{f(z) - f(-z)} + 1 \right\} \right] > \frac{\alpha\beta}{4} \{\beta + n - 2\} + \left\{ \frac{2\beta - n\alpha}{4} \right\}$$

for

$$(z \in \Delta, 0 \leq \alpha \leq 1, 0 \leq \beta < 1),$$

then  $f(z) \in S_n(\beta, -1)$ .

By taking  $\beta = 0$  in Corollary 1, we have

**Corollary 2.** *If  $f(z) \in A_n$  satisfies*

$$\operatorname{Re} \left[ \frac{zf'(z)}{f(z) - f(-z)} \left\{ \frac{\alpha zf''(z)}{f'(z)} - \frac{\alpha zf'(-z)}{f(z) - f(-z)} + 1 \right\} \right] > \frac{-n\alpha}{4}$$

where

$$(z \in \Delta, 0 \leq \alpha \leq 1),$$

then  $f(z) \in S_n(0, -1)$ .

If we take  $t = 0$  in the Theorem 1, we have the following

**Corollary 3** ([6]). *If  $f(z) \in A_n$  satisfies*

$$\operatorname{Re} \left[ \frac{zf'(z)}{f(z)} \left\{ \frac{\alpha zf''(z)}{f'(z)} + 1 \right\} \right] > \alpha\beta \left\{ \beta + \frac{n}{2} - 1 \right\} + \left\{ \beta - \frac{n\alpha}{2} \right\}$$

for

$$(z \in \Delta, 0 \leq \alpha \leq 1, 0 \leq \beta < 1),$$

then  $f(z) \in S_n(\beta, 0) = S_n^*(\beta)$ .

If we take  $\beta = 0$  and  $n = 1$  in Corollary 3, we have

**Corollary 4** ([3]). *If  $f(z) \in A$  satisfies*

$$\operatorname{Re} \left[ \frac{zf'(z)}{f(z)} \left\{ \frac{\alpha zf''(z)}{f'(z)} + 1 \right\} \right] > \frac{-\alpha}{2} \quad (z \in \Delta),$$

for some  $\alpha (\alpha \geq 0)$ , then  $f(z) \in S_1(0, 0) = S^*$ .

If we take  $\beta = \frac{\alpha}{2}$  and  $n = 1$ , in Corollary 3, we get the following

**Corollary 5** ([3]). *If  $f(z) \in A$  satisfies*

$$\operatorname{Re} \left[ \frac{zf'(z)}{f(z)} \left\{ \frac{\alpha zf''(z)}{f'(z)} + 1 \right\} \right] > \frac{-\alpha^2}{4}(1-\alpha) \quad (z \in \Delta),$$

for some  $\alpha(0 \leq \alpha < 2)$ , then  $f(z) \in S_1(\frac{\alpha}{2}, 0) = S^*(\frac{\alpha}{2})$ .

**Theorem 2.** *Let  $0 \leq \beta < 1$ ,  $|t| \leq 1$ ,  $t \neq 1$  with  $-1 \leq t + \beta < 1$ ,*

$$\begin{aligned} \lambda &= (1-\beta)^2 \left\{ 1-\beta + (1-t)\frac{n}{2} \right\}^2, \quad \mu = \left\{ (1-\beta)(1-t)\frac{n}{2} - (\beta^2 - (1-t)\beta) \right\}^2, \\ \nu &= \left\{ (1-\beta)^2 + (\beta^2 - (1-t)\beta) \right\}^2 \text{ and } \sigma = (1-\beta)^2(2\beta - 1 + t)^2 \end{aligned} \quad (2)$$

satisfy  $(\lambda + \mu - \nu + \sigma)\beta^2 < (1 - 2\beta)\mu$ .

Also suppose that  $u_0$  be the positive real root of the equation

$$\begin{aligned} 2\lambda(1-\beta)^2u^3 + \left\{ (1-\beta)^2(2\lambda + \mu - \nu + \sigma) + 3\lambda\beta^2 \right\}u^2 + 2\beta^2(2\lambda + \mu - \nu + \sigma)u \\ + (\lambda + 2\mu - \nu + \sigma)\beta^2 - (1-\beta)^2\mu = 0 \end{aligned} \quad (3)$$

and

$$\rho^2 = \frac{(1-\beta)^2(1+u_0)}{(1-t)^2 \{ (1-\beta)^2u_0 + \beta^2 \}} [\lambda u_0^2 + (\lambda + \mu - \nu + \sigma)u_0 + \mu]. \quad (4)$$

Now if  $f(z) \in A_n$  satisfies

$$\left| \left( \frac{(1-t)zf'(z)}{f(z) - f(tz)} - 1 \right) \left( \frac{zf''(z)}{f'(z)} + \frac{tzf'(tz)}{f(z) - f(tz)} \right) \right| \leq \rho \quad (z \in \Delta),$$

then  $f(z) \in S_n(\beta, t)$ .

*Proof.* Define  $p(z)$  by

$$\frac{(1-t)zf'(z)}{f(z) - f(tz)} = (1-\beta)p(z) + \beta.$$

Then  $p(z) = 1 + c_n z^n + \dots$  and is an analytic in  $\Delta$ .

A computation shows that

$$\frac{zf''(z)}{f'(z)} + \frac{tzf'(tz)}{f(z) - f(tz)} = \frac{(1-t)(1-\beta)zp'(z) + [(1-\beta)p(z) + \beta]^2 - (1-t)[(1-\beta)p(z) + \beta]}{(1-t)[(1-\beta)p(z) + \beta]}$$

and hence

$$\begin{aligned} & \left( \frac{(1-t)zf'(z)}{f(z) - f(tz)} - 1 \right) \left( \frac{zf''(z)}{f'(z)} + \frac{tzf'(tz)}{f(z) - f(tz)} \right) \\ &= \frac{(1-\beta)(p(z) - 1)}{(1-t)[(1-\beta)p(z) + \beta]} \{ (1-t)(1-\beta)zp'(z) + [(1-\beta)p(z) + \beta]^2 - (1-t)[(1-\beta)p(z) + \beta] \} \end{aligned}$$

$$= \Phi(p(z), zp'(z); z).$$

Then, for all real  $x$  and  $y$  satisfying  $y \leq -n(1 + x^2)/2$ , we have

$$\begin{aligned} |\Phi(ix, y; z)|^2 &= \frac{(1 - \beta)^2(1 + x^2)}{(1 - t)^2[(1 - \beta)^2x^2 + \beta^2]} \\ &\quad \times \left[ \{(1 - t)(1 - \beta)y - \beta(1 - t - \beta) - (1 - \beta)^2x^2\}^2 + (1 - \beta)^2(2\beta - 1 + t)^2x^2 \right] \\ &= \frac{(1 - \beta)^2(1 + u)}{(1 - t)^2[(1 - \beta)^2u + \beta^2]} \\ &\quad \times \left[ \{(1 - t)(1 - \beta)y - \beta(1 - t - \beta) - (1 - \beta)^2u\}^2 + (1 - \beta)^2(2\beta - 1 + t)^2u \right] \\ &= g(u, y) \end{aligned}$$

where  $u = x^2 > 0$  and  $y \leq -n(1 + x^2)/2$ .

Since

$$\frac{\partial g}{\partial y} = \frac{2(1 - \beta)^3(1 + u)}{(1 - t)[(1 - \beta)^2u + \beta^2]} \{(1 - t)(1 - \beta)y - \beta(1 - t - \beta) - (1 - \beta)^2u\} < 0,$$

therefore we have

$$h(u) = g[u, -n(1 + u)/2] \leq g(u, y),$$

where

$$h(u) = \frac{(1 - \beta)^2(1 + u)}{(1 - t)^2 \{(1 - \beta)^2u + \beta^2\}} [\lambda u^2 + (\lambda + \mu - \nu + \sigma)u + \mu], \tag{5}$$

where  $\lambda, \mu, \nu$  and  $\sigma$  are given in (2).

Now differentiating (5) and using  $h'(u) = 0$ , we get

$$\begin{aligned} &2\lambda(1 - \beta)^2u^3 + \{(1 - \beta)^2(2\lambda + \mu - \nu + \sigma) + 3\lambda\beta^2\}u^2 + \\ &2\beta^2(2\lambda + \mu - \nu + \sigma)u + (\lambda + 2\mu - \nu + \sigma)\beta^2 - (1 - \beta)^2\mu = 0 \end{aligned}$$

which is a cubic equation in  $u$ . Since  $u_0$  is the positive real root of this equation we have  $h(u) \geq h(u_0)$  and hence

$$|\Phi(ix, y; z)|^2 \geq h(u_0) = \rho^2.$$

Define  $\Omega = \{w; |w| < \rho\}$ , then  $\Phi(p(z), zp'(z); z) \in \Omega$  and  $\Phi(ix, y; z) \notin \Omega$  for all real  $x$  and  $y \leq -n(1 + x^2)/2, z \in \Delta$ . Therefore by an application of Lemma 1. the result follows.

By taking  $t = -1$ , in Theorem 2, we have the following

**Corollary 6.** Let  $0 \leq \beta < 1, \lambda_1 = (1 - \beta)^2 \{1 - \beta + n\}^2, \mu_1 = \{(1 - \beta)n - (\beta^2 - 2\beta)\}^2, \nu_1 = \{(1 - \beta)^2 + (\beta^2 - 2\beta)\}^2$  and  $\sigma_1 = 4(1 - \beta)^4$ , satisfy  $(\lambda_1 + \mu_1 - \nu_1 + \sigma_1)\beta^2 < (1 - 2\beta)\mu_1$ . Also suppose that  $u_1$  be the positive real root of the equation

$$2\lambda_1(1 - \beta)^2u^3 + \{(1 - \beta)^2(2\lambda_1 + \mu_1 - \nu_1 + \sigma_1) + 3\lambda_1\beta^2\}u^2$$

$$+2\beta^2(2\lambda_1 + \mu_1 - \nu_1 + \sigma_1)u + (\lambda_1 + 2\mu_1 - \nu_1 + \sigma_1)\beta^2 - (1 - \beta)^2\mu_1 = 0 \quad (6)$$

and

$$\rho_1^2 = \frac{(1 - \beta)^2(1 + u_1)}{4\{(1 - \beta)^2u_1 + \beta^2\}}[\lambda_1u_1^2 + (\lambda_1 + \mu_1 - \nu_1 + \sigma_1)u_1 + \mu_1]. \quad (7)$$

Now if  $f(z) \in A_n$  satisfies

$$\left| \left( \frac{2zf'(z)}{f(z) - f(-z)} - 1 \right) \left( \frac{zf''(z)}{f'(z)} - \frac{zf'(-z)}{f(z) - f(-z)} \right) \right| \leq \rho_1 \quad (z \in \Delta),$$

then  $f(z) \in S_n(\beta, -1)$ .

By taking  $\beta = 0$  in Corollary 6, we get the following

**Corollary 7.** Let  $u_2$  be the positive real root of the equation

$$2(n+1)^2u^3 + (3n^2 + 4n + 5)u^2 - n^2 = 0 \quad (8)$$

and

$$\rho_2^2 = \frac{(1 + u_2)}{4u_2}[(n+1)^2u_2^2 + 2(n^2 + n + 2)u_2 + n^2]. \quad (9)$$

Now if  $f(z) \in A_n$  satisfies

$$\left| \left( \frac{2zf'(z)}{f(z) - f(-z)} - 1 \right) \left( \frac{zf''(z)}{f'(z)} - \frac{zf'(-z)}{f(z) - f(-z)} \right) \right| \leq \rho_2 \quad (z \in \Delta),$$

then  $f(z) \in S_n(0, -1)$ .

By taking  $n = 1$  in Corollary 7, we have  $u_3 = 0.266048\dots$ , thus we have the following result

**Corollary 8.** If  $f(z) \in A$  satisfies

$$\left| \left( \frac{2zf'(z)}{f(z) - f(-z)} - 1 \right) \left( \frac{zf''(z)}{f'(z)} - \frac{zf'(-z)}{f(z) - f(-z)} \right) \right| \leq \rho_3 \quad (z \in \Delta),$$

where  $\rho_3 = 2.0145979\dots$ , then  $f(z) \in S(0, -1)$ .

By taking  $t = 0$  in Theorem 2, we get a known result due to Ravichandran et al. [6, Thm. 2.5]. For  $n = 1$ ,  $\beta = 0 = t$ , our Theorem 2 reduces to another known result due to Li and Owa [3].

**ACKNOWLEDGEMENTS** The first author (S P G) is thankful to CSIR, New Delhi, India for awarding Emeritus Scientist under scheme No. 21(084)/10/EMR-II and second author (P V) is thankful to the CSIR, India, for providing Senior Research Fellowship under research scheme No. 09/149(0431)/2006-EMR-I.

### References

- [1] N.E. Cho, O.S. Kwon and S.Owa, Certain subclasses of Sakaguchi functions, *Southeast Asian Bull. Math.*, **17**, 121-126. 1993.
- [2] S.P. Goyal and P. Goswami, Certain coefficient inequalities for Sakaguchi type functions and applications to fractional derivative operator, *Acta Universitatis Apulensis*, **19**, 159-166. 2009.
- [3] J.-L.Li and S. Owa, Sufficient conditions for starlikeness, *Indian J. Pure Appl. Math.*, **33**, 313-318. 2002.
- [4] S.S. Miller and P.T. Mocanu, Differential subordinations and inequalities in the complex plane, *J. Differ. Equations*, **67**, 199-211. 1987.
- [5] S. Owa, T. Sekine and R. Yamakawa, On Sakaguchi type functions, *Appl. Math. and Comp.*, **187**(1), 356-361. 2007.
- [6] V. Ravichandran, C. Selvaraj and R. Rajalaksmi, Sufficient conditions for starlike functions of order  $\alpha$ , *J.Inequal. Pure Appl. Math .*, **3**(5), 1-6. 2002.
- [7] K. Sakaguchi, On certain univalent mapping, *J. Math. Soc. Japan* , **11**, 72-75. 1959.